


However, the owner of an option benefits from one particular



make a riskless profit by buying the stock and selling the call option.

If this were not true, an arbitrageur could make a riskless profit by







Net profit =

Net profit =

Net profit = K

Net profit = K

When there are no dividends, an American option satisfies

Homework. (Hint: For the first part of the relationship consider (a) a



We then have the following figure

be exercised early if it is sufficiently deep in the money.



American put option on a non-dividend-paying stock then satisfies

We then have the following figure



in two months and again in five months.

The term structure is flat, with all risk-free interest rates being 10%.

  

We have examine five factors affecting the value of a stock option:




